Time Allowed : 3,00 Hours|

10.

COMMO\I HALF YEARLY EXAMINATION 2024-25 :
ACCOUNTANCY [Max. Marks : 90

Choose the correct Answer: ; s 20x1=20
Opening statement of affairs is usually prepared to find out the

(a) Capital in the beginning of the year (b) Capital at the end of the year

(c) Profit made during the year ; (d) Loss occurred during the year

Opening balance of debtors: Rs. 30,000, cash received: Rs. 1,00,000, credit sales: Rs. 90 000; closing
balance of debtors is

(a) Rs. 30,000 (b) Rs. 1,30,000 (c)Rs.40,000 ' {(d)Rs.20,000
Income and expenditure account is a : : .

(a) Nominal Alc . . () RealAlc

(c) Personal Afc (d) Representative personal account

There are 500 membersina club each paynng Rs. 100 as annual subscription. Subscription due but not
received for the currentyearis Rs. 200; Subscnptlon received in advanca is Rs. 300. Find outthe amount
of subscription to be shown in the income and expenditure account.

(2) Rs. 50,000 "~ {b)Rs. 50,200 (c)Rs.48.900 (d) Rs. 49, 800

As per the Indian Partnership Act, 1932, the rate of interest allowed on loans advanced by partners is
(@) 8% perannum . (b) 12% per annum (¢} 5% perannum (d) 6% per annum

Pick the odd one out : ;

(a) Partners share profits and losses equally

(b) Interest on partners capital is allowed at 7% per annum

(c) No salary or remunerahon is allowed to partners

(d) Interest on loan from partners is allowed atﬁ% perannum.

Which of the following is true? ]

(a) Super profit = Total profit/ number ofyears

(b) Super profit = Weighted profit/ number of years-

{c) Super prof“t. = Average profit— Normal profit

(d) Super profit = Average profit x Years of purchase

The total camtalased value of a business is Rs. 1,00,000; assets are Rs. 1,50, 000 and labilities are
Rs. 80,000. The value of goodwill as per the capxtallsahon methed will be

(a) Rs. 40,000 ~ (®) Rs. 70,000 " (c)Rs.1,00,000 (d)Rs. 30,000
Revaluation Alcis a i i $i
(a) Real Alc " (b) Nominal Alc (c)Personal /e (d) Impersonal Alc
Match List [ with List Il and select the comect answer using the codes given below;
List | Listll Codes: M (i) (i) Gv)
- ii) Sacrificing ratio 1. Investment fluctuation fund (8). =t sgaed
(ii) Old profit sharing ratio. 2. Accumulated profit i () [ < Sl 5 i
(i) Revaluation Account 3. Goodwill o g s e
|

(i) Capital Account 4. Unrecorded liabiity ) S2h
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* A was a partner in a partnership firm. He died on 31st March 2019, The final amount due to him is
Rs. 25,000 which is not paid immediately. !t will be transferred to
(&) A's capital account - (b) As currentaccounr
(c) A's Executor account ; (d) A's Executor loan account
A, Band C are partners sharing profits in the ratio of 4:2:3. C retires. The new prof\tsharmg ratio between
Aand B will be )
(a) 4:3 (b) 3:4 (c)2:1 (d) 1:2
After the forfeited shares are reissued, the balance in the forfeited shares account should be transferred to
@) Gen_erél reserve account {b) Capital reserve account
(¢) Securities premium account (d) Surplus éccount .

. Match the pair and identify the corréct option - . 1) 2 6 @
(1) Under subscription "= (i) Amount prepaid for calls @ O @ ) W)
(2) Over subscription - (ii) Subscription above the offergd shares (b) (i_v) (iii) (i) (i)
(3) Calls in arrear - (ili) Subscription below the offered shares - (c) (i) (i) (v) fi)
(4) Calls in advance .= () Amountunpaid on calls @ Gy (v @ @)
The term 'fund’ refers to : : :
@) Currént liabilties ~ (b) Working capital (¢) Fixed assets- (d) Non-current assets
Expenses for a business for the first year were Rs, 80,000. In the second year, it was increased to
Rs. 88,000. What is the 1rend percentage in the second year?
(a) 10 % “(b)110% . (c) 90 % . (d) 11%

. Match List | with List Il and select the correct answer using the codes given below:

List1 : Listll ' ’ Codes: (i) (i) (i) (iv)

(i) Currentratio 1. Liquidity ' (A g Sia s
(i) Net profit ratio e 2. Efficiency (D] 32w
(iii) Debt-equity ratio 3. Long term solvency € "4 32
(iv) Inventory turnover ratio 4. Profitability {eljt =St
Current liabilities Rs. 40,000; Current assets Rs. 1,00,000 ; Inventery Rs. 20,000 . Quick ratio is
(a)1:1 - {b)2.511 S [ P Bl (d) 1:2
Function key F11 is used for ‘ : g . 2
{a) Company Features (b) Adcounting vouchers  (c) Company Configuration {d) None of these
What are the predefined Ledger(s) in Tally? (i) Cash (i) Profit & Loss A/c ({iii) Capital A/lc
@ony@® . {b)Only i) © {c)Both(and (i) (d) Both (i) and (ii) -

" Answer any Tques'tions Q.No.30is cdmpulsory 7x2=14
Siate the accounts generally maln!alned by small sized sole trader when double entry accounting
system is not followed. i :

What is super profit?

What is sacrificing ratio?.

Write a short note on securities premium account.
Whatis working capital?

What is a group in Tally.ERP 97
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Show how the following iterns 2ppear in the income and expenditure account of Sirkazhi Singers Association?

; T
Stock of stationery on 1.4.2018 ' 2,600
Purchase of stationery during the year : 6,500
Stock of stationery on 31.3.2019 * 2,200

Mani is a partner, who withdrew Rs. 30,000 on 1st September, 2018. Interest on drawings is charged at
6% per annum. Calculate interest on drawings on 31st December, 2018 and show thepurnal entries by
assuming that fluctuating capltal method is followed.

Dheena, Surya and Janaki are partners sharing. pronts and losses in the ratio of $:3:2. On 31.3.2018,

Dheena retired. On the date of retirement, the books of the firm showed a reserve fund of Rs. 50,000.

Pass journal entry to transfer the reserve fund.

Calculate qmck ratio: Total current liabilities Rs. 2, 40 000; Total current assets Rs. 4,50,000; Inventones
Rs. 70,000; Prepaid expenses Rs. 20,000,

Answerany 7 questions. Q.No. 40 i is compulsory ! ' ] Tx3=21

State the differences between fixed capital method and fluctuating capﬂal method.

What are the journal entries to be passed on revaluation of assets and liabilities?

Listout the adjustments made at the time of retirement of a partner in a partnership firm.

Mention the commonly used voucher types in Tally.ERP 9.”

From the following details find out total sales made during the year.

3 Z
Debtors on 1stApril 2018 : : 50,000
Cash .received from debtors during the year_' 1,50,000
Returns inward : — 15,000 *
Bad debts - : 5,000
‘Debtorson 31stMarch 2019 * 70,000
Cashsales : % " 140,000

How will the following items appear in the llnal aooounts of Karaikudi sports club for the year endmg
31stMarch, 20197 -

. Particulars i ! . E4
Tournamentfund on 1stApril2018 .~ .~ 90,000
Tournament fund investment on 1st April 201 8 90,000
Interest received on tournament fund investment © 9,000
Donation to tournament fund g 10,000
Tournament expénses b 60,000 g )
Find out the value of goodwill at three years purchase of weighted average profit of last four years.
[ Year Profit ‘Weight
T
2015 10,000 1
2016 12,000 2
2017 16,000 3
2018 18,000 4
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{ ' ayment of
3B, Goutham Lid. forfeited 500 equily shares of Rs. 10 each [ssued at par held by Ragav for nonpay

i . . B per share,
the final call of Rs. 2 per share. The shares were forfeited and reissued to Madhan atRs. B p
Show the journal entries for forfeiture and reissue.
39. From the following particulars, prepare comparative Income statement of Barani Ltd.

: Tai6a7 | 201718 |

Pnrticulnr_s i o 7 A Sl

Revenue from operations : 30,000 45,000
Other income : - 4,000 6,000
Exp;‘nses ; 10,000 A 15,000
Income fax t i - 30% 30% |

40. Following is the balance sheet of Lakshimi Ltd. as'on 31st March, 2019:

Particulars  © o0 i s (i
1 EQUITY AND LIABILITIES
1. Shareholders’ funds . :
Equity share capital - . 4,00,000
2. Non-current liabilities 2 2,00,000
Long term borrowings

| 3. Current liabilities

(a) Sho'r_t-term borrowings ; e 50,000

{(b) Trade payables : i ; 3,10,000

(c) Other current liabilities :
Expenses payable : : 15,000

(d) Short-term provisions - / 3 25,000

Total YouTube/ Akwa Academy. 10,00,000

11 ASSETS 2 i :

1. Non-current assets ]

(a) Fixed assets : o s s -4,00,000

Tangible assets

2. Current assets - 5 ;
(a} Inventories ' e 1,60,000
(b) Trade debtors & 3,20,000
(c) Cash and cash equivalents i 80,000
(d) Other current assets . :

Prepaid expenses e 40,000

Total . e 10,00,000
Calculate: (i) Current ratio ; '
(i) Quick ratio

TPR/12/Acc/4
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PART-IV

_ IV. Answer all the questions. - 7x5=35
41. (a) From the following particulars calculate total purchases.

Particulars : e T
Sundry creditors on 1st April, 2017 75,000
Bills payable on 1st April, 2017 60,000
Paid cash to creditors ) '+ 3,70,000
Paid for bills payable ¥ 1,00,000 -
Purchases returns T 15,000

: Cash purchases . 3,20,000
Creditors on 31st March, 2018 50,000
Bills payable on 31st March, 2018 : 80,000

: SR

" (b) Prabu, Ragu and Siva are partners sharing profits and losses in the ratio of 3:2:1. Prabu retires from
partnership on 1stApril 2017. The following adjustments are to be made:
(i) Increase the value of building by Rs 12,000
(i) Reduce the value of furniture by Rs 8,500
(i) A provision would also be rﬁade for outstanding salary for Rs 6,500.
Give journal entries énd prepare revaluation account.

42.8) Raju does not keep proper books of accounts. Following details are taken from his records.

: Particulars
Cﬁsh at bank ‘ 80,000 90,000
Stockofgoods ) : 1,80,000 | 1,40,000
Debtors § ' ] - 90,000 | 2,00,000
| Sundry creditors i . -1,30,000 [ 1,95,000
-Bank Loan : ' - 60,000 | - 60,000
“Bills payable - 80,000 45,000
Plant and machinery i '1,70,000 1,70,000

During the year he Introduced further capital of Rs 50.060 and withdrew Rs 2,500 per month from the
business for his personal use. Prepafe statement of profit or loss with the above information. :
‘ (OR) :

(b) Firugress Ltd. issued 50,000 ordinary shares-of Rs 10 each, payable Rs 2 on application, Rs 4 on
allotment, Rs 2 on first call and Rs 2 on final call. All the shares are subscribed and amountwas duly
received. Pass journal entries. : :

43, {a) From tﬁe information given below, prepare Receipts and Payments account of Coimbatore Cricket
Club for the year ending 31st March, 2019.' :

TPR/12/Acc/5



Particulars

Bank overdraft (1.4.2018)
Cash in hand (1.4.2018)

Subseription received:
Previous year
Current year
Subsequent year '

Wages et to be paid

Interest on loap paid

Wages paid for ground maintenance

SRR i p T e
6,000 | Honorarium paid 2,800
1,000 | Water and electricity charges 700
2,000 ) Match expenses 2,600
' Sp_orts materizl purchased 1,900
500 Match fund receipts 5,200
9,600 : l;egucies received 2,000
400 | 10,500 | Cash balance (31.03.2019) 300
2,200 | Donation received for pavilion | - 2,000

- 2,000

. (OR} |

(b) Vlswanath Furniture Ltd. ln\nted applications f0r20 DGU equity shares of Rs. 10 each ata premium of

e Rs. Zpershare payable.
Rs. 2 on apphcahon

Rs. § (including premlum) on allotment

Rs. 5 on first and final call

: There was over subscription and applications were recelved for 30 DOD shares and the excess app!\cahons

were rejected by the direclors. All the money due were reoewed Pass the journal entries. - : L
- (a). From the foliowmg recenpts and payment account, Pprepare income and expend:ture account of :
Kumbakonam Basket BallAssoc:atlon for-the year ended 31st Mdrch, 2018,

.Rege:pls ! ? : Paymenits‘ : :
To Balance b/d By Rent of ground paid 12,000
Cash in hand 23,000 By Printing charges 5 5,000
| Cash at Bnnk = 15,00()— 35,000 | By Banl charges 2 1,000
‘| To Rent of hall received - ' 6,000 Byhﬁumncé for building © 2,000
“To Subscription :;eceived 9,000 | By Toutnament expenses 16,000
‘| To Life membership fees 7,000 | By Audit fees- 3,000

i 'Tn.LoJ:ker'rent received | - 2,000 B}’Spartsmatenals purchased 4,000

g By Balancec/d ;
Cash in hand 2,000 i
Cash at bank 14,000 | 16,000
000 e X

(OR)

) From the foHowmg particulars, prepare cnmparahve statemant of financial position of MuthiLtd.

TPRI!ZfAchS



Shea ‘315t March, 2017 | 3Tst Marchi, 2018
Particulars: ] e ;
1EQUITY AND LIABILITIES
Shareholders' Fund 4,00,000 4,40,000
Non-current liabilities 1,50,000 1,65,000
Current liabilities 75,000 82,500
Total 6,25,000 6,87,500
11 ASSETS :
Non-current asscts 5,00,000 6,00,000
Current assets 1,25,000 87,500
Total 6,25,000 6,87,500

45. (a) - Dinesh and Sugumar entered into a partnership agreement on 1st January 2018, Dinesh contributing

Rs. 1,50,000 and Sugumar Rs. 1,20,000 as capital. The agreement provided that:
() Profits and losses to be shared in the ratio 2:1 as between Dinesh and Sugumar.

(b) Partners to be entitled to interest on capital @ 4% p.a.

(c) Interest on drawings to be charged Dinesh: Rs. 3,606 and Sugumar: Rs. 2,200

- (d) Dinesh to receive a salary of Rs. 60,000 for the year, and

(e) Sugumar to receive a commission of Rs. 80,000

During the year ended on 31st December 2018, the ﬁrm made a profit of Rs 2,20,000 before adjustment

of interest, salary and commtsslon

: Prepare the Profit and loss appropriation account. (OR)

(b) Prapare common-size statement off inancial posttton for the following pamculars of Rani Ltd..

3lstMarch 2016
TEQUITY AND LIABILITIES
Sharcholders’ Fund 5,40,000 6,00,000
Non-current liabilities 2,70,000 2,50,000
Current liabilities 90,000 1,50,000 |
Total 9,00,000 _ 10,00,000
IT ASSETS =
Non-current assets 7,20,000 8,00,000
Current assets _1,80,000 2,00,000
Total 9,00,000 10,00,000

46. (a). The following particulars are available in respéct of the business carried on bya partnerst:ip firm:
(i) Profits earned: 2016: Rs. 25,000; 2017: Rs. 23,000 and 2018 Rs. 26, ODD
(i) Profit of2016 includes a non-recurring income of Rs. 2,500.
(iif) Profit of 2017 is reduced by Rs. 3,500 due to stock destroyed by fire.
(v) The stock was not insured.-But, it is decided to insure the stock in futura Thei |nsurance premium
is estimated to be Rs. 250 per annum. ; :
You are required to calculate the value of goadwill of the firm on the basis of 2 )rea:s purchase of

average profits of the last lhl’ee years. (OR} TPR 112/ Ace T



(b) From the following Balance Sheet of Arunan Ltd. as on 31.03.2019 calculate
(i) Debt-equityratio (i) Proprietary ratioand (i) Capital gearing ratio.

~ Balance Sheet of Arunan Ltd. as on 31.03,2019 .

: : Particulars i, 7 wlian el i oF
I EQUITY AND LIABILITIES :

1. Shareholders' funds
(a) Share capital _ g

Equity share capital 1,50,000

8% Preference share capital 2,00,000

(b) Reserves and surplus 1,50.000
2. Non current liabilities . ’

Long term borrowings (9% Debentures) : 4,00,000

3. Current liabilities :

Short-term borrowings from banks ; . 25,000

Trade payables. i : i 75,000

Total ¢ ' * 10,00,000

II ASSETS ; S
1. Non-current assets

Fixed assets ' s - 7,50,000
2. Current assets " :
(a) Inventories i - o 1,20,000
(b) Trade receivables b ; . 1A ; 1,00,000
(c) Cash and cash equivalents = . 27,500
(d) Other current assets : < : )
Expénses paid in advance : i 2,500

Total i ' ' 10,00,000

47, (@) Amal and Vimal are partner;‘: in a firm shanng profits and Iosses in the ratio of 7:5. Their balance
“~ sheet as on 31st March, 2019, is as follows:

TTabE e R g o
Capital accounts: _ Land 80,000 |
Amal, 20 P MR | T | 20000

| Vimgl e '50,000] " 1,20,000Stock - .| 25000
Sundry creditors | 30000|Debtors A 30000
Profit and loss A/c 24,000(Bank ' } 19,000
; e 1 7a0m| | 174000]

Nirmalis admitted as a new partneron 1 4.2018 by Introducing a capital of Rs. 30 000 for 1/3 share in the
future profit subject to the following ad)usiments : .
(a) Stockto be deprecta!ed by Rs.5,000  (b) Provision for doubtful debts to be created for Rs 3,000
() Landtobe appreciated by Rs. 20,000 ) :
Prepare revaluation account and capital account of partners after admission, (OR)
(b) Explaln any five applications of computensed accounllng system. TPR/12/Ace/8
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